Jun-17 J.R. CLANCY - PRICE LIST

Part Number Description Price
100-60855C25 HEAD BLOCK, 6 LINE, 8" DIA, 1/4" CABLE, 3/4" ROPE, GAST IRON, UPRIGHT % 59000
100-80855C25 HEAD BLOCK, 8 LINE, 8" DIA, 1/4" CABLE, 3/4" ROPE, CAST IRON, UPRIGHT $ 665.00
100-61255C25  HEAD BLOCK, 6 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, CAST IRON, UPRIGHT $ 71500
100-81255C256 HEAD BLOCK, 8 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, CAST IRON, UPRIGHT, 6" C/C $ 780.00
100-60859C25  HEAD BLOCK, 6 LINE, 8" DIA, 1/4" CABLE, 3/4" ROPE, CAST IRON, UNDERHUNG $  565.00
100-80859C25 HEAD BLOCK, 8 LINE, 8" DIA, 1/4" CABLE, 3/4" ROPE, CAST IRON, UNDERHUNG $  640.00
100-61259C25 HEAD BLOCK, 6 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, CAST IRON, UNDERHUNG $  685.00
100-81259C25 HEAD BLOCK, 8 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, CAST IRON, UNDERHUNG $  765.00
100-61255C25D HEAD BLOCK, 6 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, CAST IRON, UPRIGHT, DOUBLE PURCHASE ~ $  855.00
100-81255C25D HEAD BLOCK, 8 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, CAST IRON, UPRIGHT, DOUBLE PURCHASE $  935.00
100-61256C25D HEAD BLOCK, 6 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, CAST IRON, UNDERHUNG, DOUBLE PURCHASE '$  855.00
100-81259C25D _HEAD BLOCK, 8 LINE, 12" DIA, 1/4” CABLE, 3/4" ROPE, CAST IRON, UNDERHUNG, DOUBLE PURCHASE $  950.00
100-61255N25  HEAD BLOCK, 6 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, NYLON, UPRIGHT $  685.00
100-81255N25 HEAD BLOCK, 8 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, NYLON, UPRIGHT $  765.00
100-61259N25 HEAD BLOCK, 6 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, NYLON, UNDERHUNG $  660.00
100-81259N25 HEAD BLOCK, 8 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, NYLON, UNDERHUNG $ 735.00
100-61255N25D HEAD BLOCK, 6 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, NYLON, UPRIGHT, DOUBLE PURCHASE $  825.00
100-81255N25D HEAD BLOCK, 8 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, NYLON, UPRIGHT, DOUBLE PURCHASE $  910.00
100-61259N25D HEAD BLOCK, 6 LINE, 12" DIA, 1/4" CABLE, 3/4” ROPE, NYLON, UNDERHUNG, DOUBLE PURCHASE '$ 83000
100-81256N25D_HEAD BLOCK, 8 LINE, 12" DIA, 1/4" CABLE, 3/4" ROPE, NYLON, UNDERHUNG, DOUBLE PURCHASE $  920.00
070-CLIP CLIP, SIZE T.B.D. L 5 oo
070-CA CLIP ANGLE $ 21.40
200-10819C25R LOFT BLOCK, 1 LINE, 8" DIA, 1/4" CABLE, CAST IRON, 3/8' THROAT, BALL BEARINGS $  161.00
200-40819C25R LOFT BLOCK, 4 LINE, 8" DIA, 1/4" CABLE, CAST IRON, 3/8" THROAT $  498.00
200-80819C25R LOFT BLOCK, 8 LINE, 8" DIA, 1/4" CABLE, CAST IRON, 3/8"' THROAT $  570.00
200- 1121ClCZSR LOFT BLOCK, 1 LINE, 12" DIA, 1/4" CABLE, CAST IRON, 3/8" THROAT $ 550.00
200-10856C25 LOFT BLOCK, 1 LINE, 8" DIA, 1/4" CABLE, CAST IRON, BALL BEARINGS $  174.00
200-20855C25 LOFT BLOCK, 2 LINE, 8" DIA, 1/4" CABLE, CAST IRON, BALL BEARINGS $  190.00
200-20855C25T LOFT BLOCK, 2 LINE, 8" DIA, 1/4" CABLE, CAST IRON, TAPERED ROLLER BEARINGS s 2000
200-40855C25 LOFT BLOCK, 4 LINE, 8" DIA, 1/4" CABLE, CAST IRON, UPRIGHT $ 530.00
200-80855C25 LOFT BLOCK, 8 LINE, 8" DIA, 1/4" CABLE, CAST IRON, UPRIGHT $ 55500
200-80859C25 LOFT BLOCK, 8 LINE, 8" DIA, 1/4" CABLE, CAST IRON, UNDERHUNG $ 555.00
200-11255C25  LOFT BLOCK, 1 LINE, 12" DIA, 1/4" CABLE, CASTIRON $  580.00
200-81255C25 LOFT BLOCK, 8 LINE, 12" DIA, 1/4" CABLE, CAST IRON, UPRIGHT $ 745.00
200-81259C25 LOFT BLOCK, 8 LINE, 12" DIA, 1/4” CABLE, CAST IRON, UNDERHUNG $  715.00
200-11655838 LOFT BLOCK, 1 LINE, 16" DIA, 3/8" CABLE, STEEL $  1,710.00
200-10819N25R LOFT BLOCK, 1 LINE, 8" DIA, 1/4" CABLE, NYLON, 3/8" THROAT, BALL BEARINGS $  102.00
200-20819N25R LOFT BLOCK, 2 LINE, 8" DIA, 1/4" CABLE, NYLON, 3/8" THROAT, BALL BEARINGS $ 258.00
200-40819N25R LOFT BLOCK, 4 LINE, 8" DIA, 1/4" CABLE, NYLON, 3/8" THROAT $  540.00
200-80819N25R LOFT BLOCK, 8 LINE, 8" DIA, 1/4" CABLE, NYLON, 3/8" THROAT $  535.00
200-10856N25 LOFT BLOCK, 1 LINE, 8" DIA, 1/4" CABLE, NYLON, BALL BEARINGS $ 11400
200-20855N25 LOFT BLOCK, 2 LINE, 8" DIA, 1/4" CABLE, NYLON, BALL BEARINGS $  272.00
200-10856N25T LOFT BLOCK, 1 LINE, 8" DIA, 1/4" CABLE, NYLON, TAPERED ROLLER BEARINGS $  144.00
200-40855N25 LOFT BLOCK, 4 LINE, 8" DIA, 1/4" CABLE, NYLON, UNDERHUNG $  565.00
200-80855N25  LOFT BLOCK, 8 LINE, 8" DIA, 1/4" GABLE, NYLON, UPRIGHT $  550.00
200-80859N25  LOFT BLOCK, 8 LINE, 8" DIA, 1/4" CABLE, NYLON, UNDERHUNG $  458.00
200-10819N19R LOFT BLOCK, 1 LINE, 8" DIA, 3/16" CABLE, NYLON, 3/8" THROAT, BALL BEARINGS 3 100.00
200-80819N19R LOFT BLOCK, 8 LINE, 8" DIA, 3/16" CABLE, NYLON, 3/8" THROAT $ 650.00
200-10855N19 LOFT BLOCK, 1 LINE, 8" DIA, 3/16" CABLE, NYLON, BALL BEARINGS 5 o
200-80855N19  LOFT BLOCK, 8 LINE, 8" DIA, 3/16" CABLE, NYLON, UPRIGHT $  685.00
200-80859N19  LOFT BLOCK, 8 LINE, 8" DIA, 3/16" CABLE, NYLON, UNDERHUNG $  560.00
200-10819C75R LOFT BLOCK, 1 LINE, 8" DIA, 3/4" ROPE, CAST IRON, 3/8" THROAT, BALL BEARINGS $  162.00
200-10855C75 LOFT BLOCK, 1 LINE, 8" DIA, 3/4" ROPE, CAST IRON, BALL BEARINGS s 17200
200-10819N75R LOFT BLOCK, 1 LINE, 8" DIA, 3/4" ROPE, NYLON, 3/8" THROAT, BALL BEARINGS $  100.00
200-10855N75  LOFT BLOCK, 1 LINE, 8" DIA, 3/4" ROPE, NYLON, BALL BEARINGS $ 111.00
400-20855C75 LOFT BLOCK, 2 SHEAVE, 8" DIA, 3/4" ROPE, CAST IRON, BALL BEARINGS $ 420.00
400-30855C75 LOFT BLOCK, 3 SHEAVE, 8" DIA, 3/4" ROPE, CAST IRON, BALL BEARINGS $ 55500
400-40855C75 LOFT BLOCK, 4 SHEAVE, 8" DIA, 3/4" ROPE, CAST IRON, BALL BEARINGS $ 770.00
400-50855C75  LOFT BLOCK, 5 SHEAVE, 8" DIA, 3/4" ROPE, CAST IRON, BALL BEARINGS $  875.00




400-20855N75

LOFT BLOCK, 2 SHEAVE, 8" DIA, 3/4" ROPE, NYLON, BALL BEARINGS

297.00

$
400-30855N75 LOFT BLOCK, 3 SHEAVE, 8" DIA, 3/4" ROPE, NYLON, BALL BEARINGS $  372.00
400-40855N75 LOFT BLOCK, 4 SHEAVE, 8" DIA, 3/4" ROPE, NYLON, BALL BEARINGS $  505.00
400-50855N75 LOFT BLOCK, 5 SHEAVE, 8" DIA, 3/4" ROPE, NYLON, BALL BEARINGS $ 570,00
070-CP CLIP PACKAGE, LOFT BLOCK $ 41.60
070-UNIA MOUNTING BRACKET, UNISTRUT W/ HARDWARE 3 @ 2270
070-PIVOT PIVOT BRACKET, 855/856 LOFT BLOCK $  204.00
3.LINE IDLERS ADDER TO BLOCK PRICE 3 2600
6-LINE IDLERS ADDER TO BLOCK PRICE $ 36.00
9-LINE IDLERS ADDER TO BLOCK PRICE 5 54.00
500-10812C25 MULE BLOCK, 1 LINE, 8" DIA, 1/4" CABLE, CAST IRON, BALL BEARINGS $  525.00
500-10812C25T MULE BLOCK, 1 LINE, 8" DIA, 1/4" CABLE, CAST IRON, TAPERED ROLLER BEARINGS $  565.00
500-11212C25 MULE BLOCK, 1 LINE, 12" DIA, 1/4" CABLE, CAST IRON $ 780.00
500-11212C31  MULE BLOCK, 1 LINE, 12" DIA, 5/16” CABLE, CAST IRON $  870.00
500-11212C38 MULE BLOCK, 1 LINE, 12" DIA, 3/8" CABLE, CAST IRON $  785.00
500-11212N25 MULE BLOCK, 1 LINE, 12" DIA, 1/4" CABLE, NYLON s 70000
500-20812C25 MULE BLOCK, 2 LINE, 8" DIA, 1/4" CABLE, CAST IRON, BALL BEARINGS $ 605.00
500-20812C25T MULE BLOCK, 2 LINE, 8" DIA, 1/4" CABLE, CAST IRON, TAPERED ROLLER BEARINGS $ 65500
500-20812C19T MULE BLOCK, 2 LINE, 8" DIA., 3/16" CABLE, CAST IRON, TAPERED ROLLER BEARINGS $ 700.00
500-21212C25 MULE BLOCK, 2 LINE, 12" DIA, 1/4" CABLE, CAST IRON '8 122000
500-40812C25 MULE BLOCK, 4 LINE, 8" DIA, 1/4" CABLE, CAST IRON $  540.00
500-40812C19  MULE BLOCK, 4 LINE, 8" DIA, 3/16" CABLE,CASTIRON $  540.00
500-41212C25 MULE BLOCK, 4 LINE, 12" DIA, 1/4" CABLE, CAST IRON $  930.00
500-80812C25 MULE BLOCK, 8 LINE, 8" DIA, 1/4" CABLE, CAST IRON 3 615.00
500-80812N19  MULE BLOCK, 8 LINE, 8" DIA, 3/16" CABLE, NYLON $  680.00
500-81212C25 MULE BLOCK, 8 LINE, 12" DIA, 1/4" CABLE, CAST IRON $  1,080.00
600-11015C75 FLOOR BLOCK, T/J-GUIDE, 10" DIA, 3/4" ROPE, CAST IRON $  216.00
600-11015C75U FLOOR BLOCK, T/J-GUIDE, 10" DIA, 3/4" ROPE, CAST IRON, < 6' C/C $  327.00
600-11215C75 FLOOR BLOCK, T/J-GUIDE, 12" DIA, 3/4" ROPE, CAST IRON $  343.00
600-10818N75 FLOOR BLOCK, COMBO W/ ROPE LOCK, 8" DIA, 3/4" ROPE, NYLON ; $  473.00
600-10818C75A FLOOR BLOCK, ADJUSTABLE COMBO W/ ROPE LOCK, 10" DIA, 3/4" ROPE, CAST IRON $  690.00
500-11218C75A FLOOR BLOCK, ADJUSTABLE COMBO W/ ROPE LOCK, 12" DIA, 3/4" ROPE, CAST IRON $  755.00
600-10855C75 FLOOR BLOCK, WIRE GUIDE, 8" DIA, 3/4" ROPE, CAST IRON $  251.00
600-10855N75 FLOOR BLOCK, WIRE GUIDE, 8" DIA, 3/4" ROPE, NYLON $  169.00
070-FBCP CLIP PACKAGE, 655 FLOOR BLOCK $ 33.70
600-11217C75 FLOOR BLOCK, SLIDING TENSION, 12" DIA, 3/4" ROPE, CASTIRON $  830.00
007-15X04 ARBOR, T/J GUIDE, SINGLE PURCHASE, 4' $  422.00
007-15X05 ARBOR, T/J GUIDE, SINGLE PURCHASE, 5' $  404.00
007-15X06 ARBOR, T/J GUIDE, SINGLE PURCHASE, 6' $ 427.00
007-15X07 _ ARBOR, T/J GUIDE, SINGLE PURCHASE, 7' $ 45200
007-15X08 ARBOR, T/J GUIDE, SINGLE PURCHASE, &' $  464.00
007-15X09  ARBOR, T/J GUIDE, SINGLE PURCHASE, 9 $  480.00
007-15X10 ARBOR, T/J GUIDE, SINGLE PURCHASE, 10' $  520.00
007-15X11 ARBOR, T/J GUIDE, SINGLE PURCHASE, 11' $  565.00
007-15X12 ARBOR, T/J GUIDE, SINGLE PURCHASE, 12' $ 575.00
007-15X13" ARBOR, T/J GUIDE, SINGLE PURCHASE, 13' $  585.00
008-615X06 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 6 LINE, 6' $ 1,280.00
008-615X07 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 6 LINE, 7' $ 1,300.00
008-615X08 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 6 LINE, 8' $ 1,310.00
008-615X09 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 6 LINE, 9' $  1,320.00
008-615X10 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 6 LINE, 10' $  1,360.00
008-615X11 'ARBOR, T/J GUIDE, DOUBLE PURCHASE, 6 LINE, 11" $  1,430.00
008-615X12 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 6 LINE, 12' $ 1,440.00
008-615X13 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 6 LINE, 13' $  1,450.00
008-815X06 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 8 LINE, 6' $ 1,410.00
008-815X07 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 8 LINE, 7' $  1,440.00
008-815X08 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 8 LINE, 8' $  1,450.00
008-815X09  ARBOR, T/J GUIDE, DOUBLE PURCHASE, 8 LINE, 9' $  1,470.00
008-815X10 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 8 LINE, 10’ $  1,510.00
008-815X11 ARBOR, T/J GUIDE, DOUBLE PURGHASE, 8 LINE, 11' $ 1,540.00
008-815X12 ARBOR, T/J GUIDE, DOUBLE PURCHASE, 8 LINE, 12' $  1,550.00
007-84X04 ARBOR, LATTICE TRACK, SINGLE PURCHASE, 4' $  800.00
007-84X05 ARBOR, LATTICE TRACK, SINGLE PURCHASE, &' $  800.00




0.19

020-125 WIRE ROPE, 1/8", 7X19 GUC $

020-187 WIRE ROPE, 3/16", 7X19 GUC $ 0.26
020-250 WIRE ROPE, 1/4", 7X19 GUC $ 0.39
020-312 ~ WIRE ROPE, 5/16", 7X19 GUC 3 0.47
020-375 WIRE ROPE, 3/8", 7X19 GUC 3 0.78
020-125-5  WIRE ROPE, 1/8", 7X19 GUC, 500 FT SPOOL 5 95.00
020-375-5 WIRE ROPE, 3/8", 7X19 GUC, 500 FT SPOOL $  388.00
015698  BEAMCLAMP, 3/8" THROAT 5 2150
015-798 BEAM CLAMP, 3/4" THROAT $ 21.50
01527X8  CABLE CLEW, GUIDED, 8 LINE 5 e300
015-100 CROSS GRID CONNECTOR ASSEMBLY $ 20.30
043-4) J-BOLT, 3/8-16 X 4", ZP $ 412
015-295 CABLE CRADLE, #CSS $ 70.00
015-295DP  CABLE CRADLE, DOUBLE PURCHASE ~ ~ ; ~§ 38300
015-1191 TRIM CHAIN ASSEMBLY, 1/4" PROOF COIL CHAIN 36" LONG, 1/4" THIMBLE, 5/16" R.P. SHACKLE _ 3 21.60
015-1192 TRIM CHAIN ASSEMBLY, 1/4" PROOF COIL CHAIN, 36" LONG, 1/4" THIMBLE, 1/4" R.P. SHACKLE $ 19.30
015-1193 TRIM CHAIN ASSEMBLY, 1/4' PROOF COIL CHAIN, 36" LONG, 3/16" THIMBLE, 1/4" R.P. SHACKLE $ 19.30
022-250 CHAIN, 1/4", PROOF COIL, GR30, SHORTLINK, ZP 5 3.16
022-375 CHAIN, 3/8", PROOF COIL, GR30, ZP $ 468
0151191B___ TRIM CHAIN ASSEMBLY, 7MM BLACK ALPHACHAIN, 36" LONG, 1/4' THIMBLE, 5/16" R.P. SHACKLE 3 28.10
015-1192B TRIM CHAIN ASSEMBLY, 7MM BLACK ALPHACHAIN, 36" LONG, 1/4" THIMBLE, 1/4" R.P. SHACKLE 3 25.80
01511938 TRIM CHAIN ASSEMBLY, 7MM BLACK ALPHACHAIN, 36" LONG, 3/16" THIMBLE, 1/4" R.P. SHACKLE $ 25.80
022-250TC ALPHACHAIN, ALLOY CHAIN, 7MM, BLACK 3 4.56
013-176 _ SIDE PULLEY, 1 SHEAVE, 1/8" CABLE $  126.00
013-276 SIDE PULLEY, 2 SHEAVE, 1/8" CABLE $  185.00
028-625MW  ROPE, MULTILINE, 5/8", WHITE $ - 0.95
028-625MW6  ROPE, MULTILINE, 5/8", WHITE, 600 FT SPOOL $  570.00
028-625MW12 ROPE, MULTILINE, 5/8", WHITE, 1200 FT SPOOL $  1,140.00
028-625XW ROPE, STAGE SET X, 5/8", WHITE 3 1.70
028-625XW6  ROPE, STAGE SET X, 5/8", WHITE, 600 FT SPOOL $ 1,020.00
028-625XW12  ROPE, STAGE SET X, 5/8", WHITE, 1200 FT SPOOL $ 2,040.00
028-625MB  ROPE, MULTILINE, 5/8", BLACK ‘ $ 1.78
028-625MB6  ROPE, MULTILINE, 5/8", BLACK, 600 FT SPOOL $  1,068.00
028-625MB12  ROPE, MULTILINE, 5/8", BLACK, 1200 FT SPOOL $  2,136.00
028-625XB ROPE, STAGE SET X, 5/8", BLACK 3 217
028.-625XB6  ROPE, STAGE SET X, 5/8", BLACK, 600 FT SPOOL _ $  1,302.00
028-625XB12  ROPE, STAGE SET X, 5/8", BLACK, 1200 FT SPOOL $ 2,604.00
028-750SGW  ROPE, SURE GRIP, 3/4", WHITE 3 1.10
028-750SGW6 ROPE, SURE GRIP, 3/4", WHITE, 600 FT SPOOL $  660.00
028-750SGW12 ROPE, SURE GRIP, 3/4", WHITE, 1200 FT SPOOL $  1,320.00
028-750XW ROPE, STAGE SET X, 3/4", WHITE $ 2.05
028-750XW6  ROPE, STAGE SET X, 3/4", WHITE, 600 FT SPOOL '$  1,230.00
028-750XW12  ROPE, STAGE SET X, 3/4", WHITE, 1200 FT SPOOL $  2,460.00
028-750SGB  ROPE, SURE GRIP, 3/4", BLACK s 153
028-750SGB6 ROPE, SURE GRIP, 3/4", BLACK, 600 FT SPOOL $ -
028-750SGB12 ROPE, SURE GRIP, 3/4", BLACK, 1200 FT SPOOL $  1,836.00
028-750XB ROPE, STAGE SET X, 3/4", BLACK 3 2.47
028-750XB6 ROPE, STAGE SET X, 3/4", BLACK, 600 FT SPOOL $  1,482.00
028-750XB12  ROPE, STAGE SET X, 3/4", BLACK, 1200 FT SPOOL $  2,964.00
028-1000MW  ROPE, MULTILINE Ii, 1", WHITE $ 2.07
028-1000MW6  ROPE, MULTILINE II, 1", WHITE, 600 FT SPOOL $  1,242.00
028-1000MW12 ROPE, MULTILINE II, 1", WHITE, 1200 FT SPOOL $  2,484.00
028-1000XW  ROPE, STAGE SET X, 1", WHITE $ 3.85
028-1000XW6 ROPE, STAGE SET X, 1", WHITE, 600 FT SPOOL $ 2,310.00
028-1000XW12 ROPE, STAGE SET X, 1", WHITE, 1200 FT SPOOL $ 4,620.00
015-249 BELAY PIN, WOOD, 15/32" DIA 3 26.30
015-439 BELAY PIN, STEEL, 3/4" DIA $ 85.00
015-449  BELAY PIN, STEEL, 1 1/16" DIA_ $ 52.00
015-SB10 SAND BAG, 10 LB $ 59.00
015-SB25 SAND BAG, 25 LB $ 66.00
015-SB50 SAND BAG, 50 LB $ 83.00
015-SB100 SAND BAG, 100 LB $ 114.00
015-SB150 SAND BAG, 150 LB $  123.00




ARBOR, LATTICE TRACK, SINGLE PURCHASE, 6'

795.00

007-84X06 3

007-84X07 ARBOR, LATTICE TRACK, SINGLE PURCHASE, 7' $  810.00
007-84X08 ARBOR, LATTICE TRACK, SINGLE PURCHASE, &' '$  820.00
007-85X04 ARBOR, WIRE GUIDE, SINGLE PURCHASE, 4' $  505.00
007-85X05  ARBOR, WIRE GUIDE, SINGLE PURCHASE, 5' $ 510.00
007-85X06 ARBOR, WIRE GUIDE, SINGLE PURCHASE, 6' $  500.00
007-85X07 ARBOR, WIRE GUIDE, SINGLE PURCHASE, 7 '$ 52000
007-85X08 ARBOR, WIRE GUIDE, SINGLE PURCHASE, 8’ $  525.00
009-4X1 COUNTERWEIGHT, STEEL, 4" WIDE X 1" THICK $ 115
009-4X2 COUNTERWEIGHT, STEEL, 4" WIDE X 2" THICK $ 1.15
009-6X1 ___ COUNTERWEIGHT, STEEL, 6" WIDE X 1" THICK B R
009-6X2 COUNTERWEIGHT, STEEL, 6" WIDE X 2" THICK $ 1.15
015-151405 INDEX STRIP LIGHT, 1 CIRCUIT, 5FT _ $  357.00
015-151410 INDEX STRIP LIGHT, 1 CIRCUIT, 10 FT $  555.00
015261405 INDEX STRIP LIGHT, 2 CIRCUIT, 5 FT $ 433.00
015-251410 INDEX STRIP LIGHT, 2 CIRCUIT, 10 FT $  685.00
015-96 OUTRIGGER BRACKET, W/ 1 1/2" HALF CLAMP $  264.00
015-96WS WALL SLEEVE, OUTRIGGER BATTEN, 1 1/2" SCHED. 40 PIPE $ 44.00
010-533RA ___ ROPE LOCK, MALLEABLE IRON W/ HARDWARE ANDRING $  159.00
010-PLOCK PADLOCK, MASTER #3KALF, KEYED ALIKE 0536 $ 19.30
010-600R  SURELOCK ' $  740.00
110-533C ROPE LOCK RING, VINYL COATED $ 4.23
890-67R " PIPE BATTEN, 1 1/2" SCHED. 40 $ 14.20
890-67H PIPE BATTEN, 1 1/2" SCHED. 80 $ 19.10
890-68R PIPE BATTEN, 2" SCHED. 40 3 22.00
890-67T TRUSS BATTEN, 1 1/2" SCHED. 40 $ 32.50
099-BATCAP _ BATTEN END CAP, 1 1/2" PIPE, YELLOW .5 17
015-67S BATTEN SLEEVE, 1 1/2" SCHED. 40, NO HOLES $ 21.80
015-67HS BATTEN SLEEVE, 1 1/2" SCHED. 80, NO HOLES $ 72.00
015-68S BATTEN SLEEVE, 2" SCHED. 40, NO HOLES $ 32.20
026-21X1.5  PIPE CLAMP, HALF, 1-1/2" 8 19.60
026-21X2.0 PIPE CLAMP, HALF, 2" $ 18.30
026-22X1.5  PIPE CLAMP, FULL, 1-1/2" § 1840
026-22X2.0 PIPE CLAMP, FULL, 2" $ 9.47
026-23X1.5  BATTEN TRIM CLAMP, 1-1/2" $ 84.00
032-220J&E TURNBUCKLE, 5/16 X 4-1/2" JAW & EYE, FORGED/GALV. $ 33.10
032-221J&E  TURNBUCKLE, 3/8 X 6", JAW & EYE, FORGED/GALV. 3 3560
032-221J8J TURNBUCKLE, 3/8 X 6", JAW & JAW, FORGED/GALV. 3 40.90
032-222J8E  TURNBUCKLE, 1/2 X 6", JAW & EYE, FORGED/GALV. $ . 3880
032-223J&E TURNBUCKLE, 1/2 X 12", JAW & EYE, FORGED/GALV. $ 56.00
019-A250R SHACKLE, ANCHOR, 1/4", ROUND PIN, FORGED/GALY. $ 5.61
019-A250S SHACKLE, ANCHOR, 1/4", SCREW PIN, FORGED/GALYV. 3 6.09
019-A312R SHACKLE, ANCHOR, 5/16", ROUND PIN, FORGED/GALYV, $ 7.41
019-A312S SHACKLE, ANCHOR, 5/16", SCREW PIN, FORGED/GALV. $ 7.49
023-125CS  THIMBLE, CABLE, 1/8", GALV., STANDARD $ 1,03
023-187CS THIMBLE, CABLE, 3/16", GALV., STANDARD $ 0.40
023-250C THIMBLE, CABLE, 1/4", GALV., HEAVY DUTY $ 0.49
023-375C THIMBLE, CABLE, 3/8", GALV., HEAVY DUTY $ 1.16
025-125N OVAL SLEEVE, 1/8", COPPER, NICOPRESS #18-3-M $ 0.46
025-187N OVAL SLEEVE, 3/16", COPPER, NICOPRESS #18-6-X $ 1.92
025-250N "OVAL SLEEVE, 1/4", COPPER, NICOPRESS #18-10-F6 3 1.73
025-312N OVAL SLEEVE, 5/16", COPPER, NICOPRESS #18-13-G9 $ 3.94
025-375N  OVAL SLEEVE, 3/8", COPPER, NICOPRESS #18-23-H5 3 6.84
025-125S STOP SLEEVE, 1/8", COPPER, NICOPRESS #871-18-J $ 0.44
025-187S STOP SLEEVE, 3/16", COPPER, NICOPRESS #871-20-M $ 0.52
025-250S STOP SLEEVE, 1/4", COPPER, NICOPRESS #871-23-F6 $ 2.52
025-312S " STOP SLEEVE, 5/16", COPPER, NICOPRESS #871-26-F6 $ 1.75
025-375S STOP SLEEVE, 3/8", COPPER, NICOPRESS #871-27-F6 $ 2.48
021-125C  CABLE CLIP, 1/8", FORGED/GALV. $ 3.50
621-187C CABLE CLIP, 3/16", FORGED/GALV. $ 3.74
021-250C CABLE CLIP, 1/4", FORGEDI/GALV. s 525
021-312C CABLE CLIP, 5/16", FORGED/GALV. $ 548
021-375C CABLE CLIP, 3/8", FORGED/GALV. $ 5.99




016-106005 SMOKE POCKET ASSEMBLY, 6" DEEP, WIRE GUIDED, 5' LONG $ 389.00
016-106010 SMOKE POCKET ASSEMBLY, 6" DEEP, WIRE GUIDED, 10' LONG $ 740.00
016-108005 SMOKE POCKET ASSEMBLY, 8" DEEP, WIRE GUIDED, 5 LONG $ 398.00
016-108010 SMOKE POCKET ASSEMBLY, 8" DEEP, WIRE GUIDED, 10' LONG $ 840.00
016-106T05  SMOKE POCKET ASSEMBLY, 6" DEEP, TRACK GUIDED, 5 LONG _ $ 575.00
016-106T10 SMOKE POCKET ASSEMBLY, 6" DEEP, TRACK GUIDED, 10' LONG $  1,110.00
016-SEAL4 SMOKE SEAL ASSEMBLY, 4 FT ‘ $ 76.00
016-8 ARBOR, ROUND WEIGHT $ 64.00
016-13 ARBOR GUARD, ROUND WEIGHT $ 102.00
016-9 ROUND WEIGHT, 5 LB $ 12.70
016-97 SQUARE FLOOR PLATE $ 52.00
016-14L FIRE CURTAIN RELEASE LEVER $ 139.00
016-14EX __ENCLOSURE, FIRE CURTAIN RELEASE LEVER | $ 141.00
016-170a CURTAIN GUIDE, BRONZE SPOOL W/ HARDWARE $ 18.50
016-171 CURTAIN GUIDE, PLASTIC SPOOL ‘ , $ 16.10
016-370a CURTAIN GUIDE, STEEL ROLLER W/ HARDWARE $ 89.00
016-970 _ SURE GUARD RELEASE SYSTEM $  2,650.00
016-AR ARBOR RELEASE, FIRE CURTAIN $ 296.00
016-410L DASHPOT, 60" STROKE, HEAVY DUTY $ 10,950.00
016-411L DASHPOT, 60” STROKE, NORMAL DUTY $  9,840.00
016-7519 FUSIBLE LINK, MODEL-D, 165 DEG F $ 2.73
016-ETL ELECTRO THERMAL LINK, 165 DEG F $ 175.00
099-281B  RATE OF RISE HEAT DETECTOR, EDWARDS #281B-PL $ 43.40
099-SWEP $ 27.80

BLOCK, SWIVEL EYE, #201060




